Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (Iog)
OstwaldFarbe: Griin G, =470 A5=570 A¢=520
Dreiecks- HeH\gKe\t ™

ege8a
Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (log)
OstwaIdFarbe Cyan C,\=400 =570 \=495

Dreiecks-Helligkeit: T,
o, ses

OstwaldFarbe Gelb Y,

Rs(A) = log[Rr(A)] = Iog[R()\)IO 18] Reflexlon () r

Drenecks He\hgkeu

Ch ]

Name & Spekralbereich 48
Rm570_770 %,520_770

G 470_570 G, 380_570

Br 380520 M, 570_470

6 Optimalfarben (o),

0,
6 von maximalem (m)C,\B fur Eoo’
in Bumwenmagram B,)

Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (log)
OstwaldFarbe: Blau B, ;=400 =495 \¢=470
Dreiecks-Helligkeit

400 500
WellenlangeA /nm

Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reﬂexnon (Iog)
OstwaldFarbe: Rot R, A;=570 \2=700 \¢=595 '
Ry(A) Dreiecks-| Hemgken T,

08

04

Wellenlange)\ /nm

Rs(A) = log[Rr(A)] = log[R(A)/0,18] Reflexion (log)
OstwaldFarbe: Magenta M, A;=570 A;=470 ,A4=520c
Dreiecks-Helligkeit: T,

500
WellenlangeA /nm
egz83-6a
ohne N-Reflexion
Normreflexion
0,036<=R(A\)<=0,900
log[Relative Reflexion]
Rs(A)=log[R(A)/0,18]
T*rug=40logR:(A)]/log5




